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General Instructions :

i)

(ii)

(i11)

This question paper contains 33 questions out of which the candidate
needs to attempt only 25 questions.

Question paper is divided into two sections.

SECTION A

e  Part I contains questions 1 to 12 of 1 mark each out of which any
10 questions are to be attempted.

e  Part II contains questions 13 to 19 of 2 marks each out of which any
5 questions are to be attempted

e  Part III contains questions 20 to 26 of 3 marks each out of which any
5 questions are to be attempted.

SECTION B

e  Contains questions 27 to 33 of 5 marks each out of which any
5 questions are to be attempted.

All questions of a particular section must be placed in the correct order.

SECTION A
PART I

Answer any ten questions.

1.
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List the two interdependent and inseparable segments of the securities
market.

State any two main objectives of establishing the securities market
regulator.

What is meant by NSE Demutualised structure ?
What is meant by India VIX measure ?

Define ‘Sub-Broker’.

What is meant by a Dominant Promoter Group ?
What is meant by a Unique Client Code ?

Give the meaning of Screen-Based Trading System.
What is meant by ‘Cum-Security Holder’ ?

Define a Self-Regulatory Organization.

Define a ‘Beneficiary Owner’.

Name any two Regulators of Securities Market.
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PART II

Answer any five questions.

13.

14.
15.
16.

17.

18.
19.

Giving one example of each, name any two participants of securities
market.

What does the index of the securities market indicate ? Explain briefly.
Describe briefly the Normal Market Open Phase.

State any four points of information that are displayed in the Market
Watch on real-time basis.

Discuss briefly the features available in the NEAT system to get
instantaneous market information on a desired security.

Explain briefly the functionality of basket trading.

From the following information, calculate Debt-Equity ratio :

Particulars Am(%unt

Equity Share Capital 2,00,000
General Reserve 1,60,000
10% Debentures 1,50,000
Current Liabilities 1,00,000
Preliminary Expenses 10,000

PART III

Answer any five questions.

20.
21.

22,
23.
24.

25.
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Describe any three Market Segments of NSE.

Explain the foreign entities that are eligible to take trading membership
as a DPG of the Exchange.

Explain Index-Based Market-Wide Circuit Breaker.

How are Regular Lot orders matched in the Normal Market ? Explain.
Briefly explain ‘Standard Form Contract’ and ‘Agency Contract’.

Describe briefly the rights and obligations of a depository and its

participants in case of (a) Surrender of Certificate of Security and
(b) To Indemnify Loss in certain cases.
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26.

The following information is given about a company :

Particulars Am%unt

Sales 1,50,000
Gross Profit 30,000
Cost of Goods Sold 1,20,000
Opening Stock 29,000
Closing Stock 31,000
Debtors 16,000
Net Profits 14,000
Net Fixed Assets 1,10,000

Calculate :

(a) Fixed Assets Turnover Ratio
(b) Gross Profit Ratio
(¢) Net Profit Ratio

SECTION B

Answer any five questions.

217.

28.

29.

30.

31.

32.

33.
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Explain the eligibility criteria for corporate membership of the National
Stock Exchange.

Describe any three points on the basis of which suspension or expulsion
of membership can be done by the NSE.

Explain ‘Buy Back Trade’.
Explain the advantages of screen-based trading system.

Explain the order matching of the following :
(a)  Pre-open matching

(b)  Auction order matching
Explain VaR Margin.

Explain the close-out procedures for different markets.
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